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Please make sure that the printed pages in this question paper are 16 in number
and it contains 47 questions.

o JegF § qaw FIC RE 7 B T B G Fv-gRaw & Jed-ge 97 g

The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.

o FYT 5T F I IEGT J& F7 7 GE, FeT H BE T g

Before beginning to answer a question, its Serial Number must be written.
o JUCYRaE 3 diT 7 @l g/ 97 T 83

Don’t leave blank page/pages in your answer-book.

o FUCYRaE 3 SaRFT Fg o= dfie T Al o siavEEdAgET & & i kiEr aoe T
FIc)

Except answer-book, no extra sheet will be ;}ven. Write to the point and do not
strike the written answer.

o GOHR o1y a7 TFo FIF-TF qT ST @)

Candidates must write their Roll Number on the question paper.

o FYA T I IOV T G qF 98 gARTT FW 7 5 gerg7 g 7 @@ & wher & o9u §6
g 4 @i o aar @ 7@ R

Before answering the question, ensure that you have been supplied the correct and
complete guestion paper, no claim in this regard, will be entertained after
examination.
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General Instructions :

1529
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(it).

(iii)

(iv)

(v

(vi)

(vii)

ot g AT &

All questions are compulsory.
g JT & 9% TTB @R T T 8

Marks of each question are indicated against it.

57 F0F 1 § 35 TF TGS 97 &1 Fow g 1 9% 7 2 e wd o o
mgﬂﬁﬁ?@@??f ,

Question Nos. 1 to 35 are objective type questions carrying 1 mark each.
Candidate have to write the correct answer in their answer-book.

797 % 36 & 40 % - TETTHE 597 & 9% 997 2 75 7 & 59% g7 %7
FY 79T 30 sr] F oy

Question Nos. 36 to 40 are very short answer type questions carrying
2 marks each. Answer these in about 30 words each.

7T FF 41 @ 45 T TEAITE 7 & FE T 3 B B & IE F9T # IV
T 40 =) F forgy

Question Nos. 41 to 45 are short answer type questions carrying 3 marks

each. Answer these in about 40 words each.

97 FH% 46 T 47 Y FTUHF §97 81 A% H9T S HE F & IIF §97 H TV
T 70 S1%7 7 ffor ’

Question Nos. 46 & 47 are long answer type questions carrying 5 marks
each. Answer these in about 70 words each.

PTUT F w5y w7 @ FF Roey 9 & TS oH ad a9 79T F ofaies aaT
JaT7 R 77 & QF gt F @ e $aT O & T FA 8

There is no overall choice. However, internal choice is given in both long
answer type questions of 5 marks each. You have to attempt only one of the

given choice in such questions.
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64 g SR T RAa A ¥ 2

(A) 1.5 B) 2.0
(€ 25 D) 3.0
Number of moles in 64 g of Oxygen are :

@A) 1.5 (Bf 2.0
) 2.5 (D) 3.0
Mo Gy ¥ R o et o ¥

a) 1 B 2
(C) 3 (D) 4

a) 1 - (B) 2
{g) 3 (D) 4
B, C, N, F a1 Si aell & oreg SR B W w €

(A) B>C>Si>N>F

(B) Si>C>B>N>F

(C) F>N>C >B > Si

(D) F>N>C>Si>B

1529
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Arrangec

(A) B>C>Si >N >F

B) Si>C>B>N>F

/ F>N>C>B>Si

(D) F>N>C >Si > B
m@#saﬁﬁanﬁiiﬁﬁﬁ%ﬁadﬁmﬁ%?

(A) 2 (B) 6

(C) 7 (D) 8
How many horizontal rows in Modern periodic table ?
(A) 2 | (B) 6

ej 7 (D) 8
F-ar A g faya ot R & ?

(A) CCly (B) Hy0
(C) SOy (D) HyS
Which compound shows zero dipole moment ?

&) CCly (B) H,0

(C) SO, (D) H,S

B C, N, F and St in correct order of their non-metallic cha
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HpS M@ﬁﬁ%ﬂm?ﬁm-aﬂzﬁwm%7

(A) Toa-fEge ww

B) faga-SRE faye Tw

(C) SEhIUIF S -

(D) EERE S

Which type of intermolecular force exists in HyS molecules ?

@)’ Dipole-dipole forces

(B) Dipole-induced dipole forces
(C) Dispersion forces

(D} Hydrogen bond

ﬁmaﬁ_mmﬁmmwmﬂm%wﬁmm%? 1
(A) &R T, F9 T
(B) A UA, AEH I
(C) it Aqer, v @

(D) TH TAHE, FH I

p.T.O.
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A real gas acts as an ideal gas under which condition ?
\(9; High temperature, low pressure

(B) Low temperature, high pressure

(C) High temperature, high pressure

(D) Low temperature, low pressure

8. |l ol # QO I ded-orqe F A ¥ 1
(A) TR (B) I
(C) <0 (D) >0

The enthalpies of all elements in their standard states are :

(A) Unity (B) Zero
©) <0 (D) >0

9. T H pH R & ? | 1
(A) 7.4 (B) 9.2
(€ 7.8 (D) 6.8

The pH of milk is :
(A) 7.4 (B) 9.2

c) 7.8 [\D), 6.8

1529
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(B) IErEE
(C) FEId (D) &
| Thermodynamically the most stable form of Carbon is :
(&) Coal (B}#*Graphites
(C) Fullerenes (D} Diamond

CpHo, O 9O G & ?

(A) T (B) T
(C) TR (D) T
CpHy, is general formula of :

{8y alkene (B) alkane

(C) alkyne | (D) arene

AT Iohee e Srer-arEd BT & T B A T G @ 7

(a) A (B) =

© & (D) S

Heating a mixture of sodium benzoate with soda-lime gives :
(A) Methane (B)/Benzene

(C) Ethane (D) Propane

1529
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23.

24.

25.
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Round up 10.4107 upto three significant figures.

ﬁqﬁ@a@mﬁmwwm?

Mg, Mg**, Al, Al

Which of the following species will have smallest size ?

U L
Mg, Mg>*, Al, AI**

Sl el B AR GeRRe e e

Write general electronic configuration of S-block elements.

g &l o e ?

What is Charle's Law ?

e & P § o Re @ § 7

What is Constant in Boyle's Law ?

T Ry R ?

What is reduction process ?

Prefeieaa aifafpar § ofefietE B ¢ 7

Zn +2HCl - ZnCly + Hy

1529
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27.

28.

29.

30.

31.

32,
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Which is oxidizing agent in the following reaction ?

Zn™ 2HCl > ZnCl, + H,

i oy SR ¥ R 7 oo o ¥ 2

1
Why are alkali metals not found in nature ?
1 Bl = Reem 1
1 milligram = .............. kilogram.
Mg @ N & & g faeih afe ... & 1
Binary compound formed by Mgand Nis ................ .
Y% WH & @ S VA T8 TS A e, Bl aw R dm o ST
B 1
Each line of VVs T graph at constant pressure is called ................ .
TH AR H ZOGEE A AT eeennnennns Feardl ol 1
In a reaction donor of electrons call{ed ................ :
CuSO4.5HQOI # IJugeHaeT éq[afq gl ® eﬂaﬁ DARKE [ | (P R 1
................ number of coordinated bonded water molecules in CuSO4.5H20 .
Tt 15, 16,173 TRgEE ..o Feam 8 1
G_rogp 13, 16,.17 hydrides called .......coereos -

P.T.O.
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34.

35.

36.

37.

38.

39.
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ot 2 Be, Mg, Ca, Sr, BaHlg -..oeeeone FEA Bl
Group 2 Be, Mg, Ca, Sr, Ba are called ........oovvnee metals.
YoEe § HET B OGHT oo UL BB 1

The type of hybridization of carbon in graphite 18 ......ccc.oo-e+: :

KOH%Wﬁquﬁaﬁﬁaﬁﬁq,ms.egKOHﬂzﬂaﬁﬁamwﬁm

T &, afs e @ 250 mL W 8 S 2

Calculate the molarity of KOH in the solution prepared by dissolving its 5.6 g

in water to form 250 mL of solution.

5800 A TORE @ ffser & SPRT H TOFT HfT 2

Calculate frequency of radiation having wavelength 5800 A.

e Ui R ¥ 7 g% JEET AT )

What is enthalpy of Combustion ? Give one example.

ST oA HF o1 H,SO,4 % HIF &1 941 8 ? 2

What will be the conjugate bases for the Bronsted acids HE and H S04 ?
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What are Nucleophiles ? Give its types with examples.

41. oS ATEEH ST S e aRw awen w5t

Explain Pauli Exclusion principle with example.

42. g P, REE T o O B o

43.

Define open system, extensive properties and enthalpy.

AP T § ST OO MR I Sareu §ied e B

Define acid and base with example in Arrhenius concept.

44. Preffeg 3 s § ofg @ 94 § 7

1529

(a) &ishT T THE
(b) TG

@ g

What do you understand by the following ?
(@) inert pair effect

(b) allotropy

{c) catenation

1529
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45. Prefefad @ IUPAC W fofau -

® \/VCN
(b) M
OH
r
& ;\/\A
Cl
Give IUPAC names of the following :

CAAA

c.t*;
(b) M
6 ! OH

1529
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46. g
AEY e J o T
T ¥ ? Ny, 0, O T 07 ¥ ey HR F e vy

What is
meant by the term Bond Order ? Calculate the bond order of N 2, Oo

O5 and O5.

OR
mmﬁ%ﬁwﬁmwmﬂ%%?sp,sfmsﬁW«wzﬁﬁex@ﬁrq;{é
T |ied T Hivw 5

What is meant by hybridization of atomic orbitals ? Describe the shapes of sp,,

s_p:J2 and sp3 hybrid orbitals with examples.

47. (i) SErS-shie. Qe SR T E 7
What is Friedel-Crafts alkylation reaction ?

(i) qﬁﬁaﬁfﬁﬁmw%?waﬁﬂmaﬁﬁm

What is Markovnikov's rule ? Explain with example
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HYqr
OR
() gEm S T E ? 2
What is Wurtz reaction ?
(i) nﬁ-mmw%?mﬂﬁﬁmm| 3

What is anti-Markovnikov's rule ? Explain with example.
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